1. BpIOSIHU IEHCTBUA:

45%2:9 34:17 21*4
57:3*%4 75:15 23%*3
24%3:6 90:15 4*24

2. Pemn ypaBHEHUS:
X*6=72-36 32:X=64:8

3. CpaBHHU BBIpaKECHHUS:
17:17mn 17:1 65*0 u 65*1

1. BpIoOJSIHY IEHCTBUA:

3%24:12 45:5 36*2

62:2*3 45:3 28*3

91:7 *5 70:14  4%*25
2. Pemn ypaBHeHUS:

7%X=100 - 51 X :6=21:3
3. CpaBHHU BBIpaKECHHUS:

28:1 m 28:28 34*1 u 34*0

1. BeimosHu neiicTBuL:
11*7+23 56:14 *19 72:18 +7*8
23+ 27%*2 60:15 *13 86-78:13
2.Pemm ypaBHEHUS:
X:6=11 75 : X=17+8
3.CpaBHU BbIpaxkeHHs (IIOCTaBb 3HAK )
(20 + 8)*2 u 28 *2 (7T+4)*4 u 7*4 +4*4

1.BeImmondu aencTBus:

45%2:9 34:17 21%4

57:3*4 75:15 23%*3

24%*3:6 90:15 4*24
2. Pemu ypaBHeHUS:

X*6=72-36 32:X=64:8

3. CpaBHHU BBIpAKECHUS:
17:17mn 17:1 65*0 u 65*1





